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Hta<x<pd o,

X2 —3x <094
x(x-3)<00|B2=2
0<x<3---(
x2—bx+4<0°fA
(x=1)(x-4) <0°]B=2
l<x<4---(h
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RS 6 - 4x - 6] < 69 S5 o2

DO -2<x<6 @ 0<x<4
® x<-2%+=x>6 @—23x§0£—b—4s;cs6

® x<0EEx>4

B

[x2 —4x — 6| < 6°11A]
—6 { ©’—41-6 < 6
7o

A@NA x? —4x>0,x(x—4) >0
Lx<0EEx>4

©OflA x?—4x-12<0,(x+2)(x-6) <0
L—2<x<6
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2<x<0EE=4<x<6




y=x2+(m-Dx+m?+1
y=x+1
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@ m<-2, m>2 @m<2,m>§
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B REAIEE m & Aok "k
X2+ (m=2)x+m? >0 oA TEA
D= (m-2)?-4m? <0,
(m—2+2m)(m—-2-2m) <0
(Bm—-2)(m+2) >0
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m<-2,m> -
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a, bo ALY (&, a, b= A%

Da=1, b>2 @ a=1, b<2 @a:?, b>1

@ a=2 b>1 ®a=2 b<1

D ‘
A& xof tiste] WAoo = A 2std

¥ +2(1+y)x+y>+ay+b>00]

Aol A= xof tiste] 4 A5t HaliAl=

D/4 < 0& TH=E3lof gttt
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La=2, b>1
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